Соколова О. Н.   218-492-332

                 Приложение 2
	1 вариант
1. Найди значение выражений.

27 + 64 = 27+           + 4 =                64 + 37 =                                34 + 57 =       

65 + 39 = 65 +           + 9 =               55 + 36 =                                67 + 28 =

77 + 28 = 77+           + 8 =                24 + 48 =                                72 + 17 =

2. Найди и подчеркни лишнее числовое выражение.




	2 вариант
1. Найди значение выражений.

36 + 55 =  36 +           + 5 =               73 + 18 =                              86 + 15 =     

68 + 26 = 68 +            + 6 =               57 + 34 =                              51 + 28 =

44 + 37 = 44 +            + 7 =               14 + 49 =                              56 + 39 =

2. Найди и подчеркни лишнее числовое выражение.






Приложение 3.
Модель жетона:
 (
Молодец!
)[image: http://im0-tub.yandex.net/i?id=37732364&tov=0]
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